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1.
Underpayment followed by overpayment is most likely to

A) decrease work incentives due to low wages in the first period.

B) require greater supervision.

C) attract present-oriented workers.

D) increase productivity of workers seeking to qualify for later overpayment.
Ans: D
2. A promotion tournament is

A) a process to motivate several workers to try and win one high-paying job.

B) a process to assure the most productive worker is paid his or her marginal product.

C) a process to help a corporation get rid of "deadwood."

D) a way to insure that all diligent workers get big rewards.
Ans: A

